H & 0l & AHS B Ml A

FA dES
M LSS MBOT 9F
Selr AUME=SI] X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M=K 184,145,565 163,078,684 21,066,881
= 125,519,628
[ 4,568,310
= 13,808,497
Al 40,249,130
NASE dgod 2% 162,248,084 145,078,750 17,169,334
= 125,519,628
[ 4,078,19%6
= 12,259,969
Al 20,390,291
ANl E=X| X2 14,090,395 16,426,639 A1,336,244
= 690,000
[ 1,771,281
Al 11,629,114
AR SR 2 3,997,666 3,166,168 831,498
307 lztol & 3,997,666 3,166,168 831,498
05 2IMRIE =3 2,783,147 1,981,568 801,579
OAtz|= X2 2124H| 2,345,447
OAt2l = A2 23| 437,700
10 AlRISXAZEE 22X 1,214,519 1,184,600 29,919
OAtz|= X2 2124 1,170,519
OAtzI=X2 22| 44,000
A2l SX2 SAHA SE=E 113,760 91,800 21,960
= 34,128
Al 79,632
307 elzto| & 113,760 91,800 21,960
= 34,128
Al 79,632
1 AMEISXAIEEXS 113,760 91,800 21,960
OAt2ISAI2 SAHLT SE+g 113,760
=S 34,128
Al 79,632
AMEIFEX2 NIS=X 2208 29| 60,000 50,000 10,000
< 12,000
Al 48,000
307 lztol & 60,000 50,000 10,000
= 12,000
Al 48,000
11 MEISXAIEEXS 60,000 50,000 10,000
OAtSAI2 AgSA 2208 23| 60,000
= 12,000
Al 48,000
AEIEX2 AAHEZZ20Y 2SXE 24,000 20,000 4,000




FA dES
M HASE MBOIE PE
SRl Al EST XA (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 24,000 20,000 4,000
11 AMEISXAEEES 24,000 20,000 4,000
CFSEE =N AR 4,000
OHFZE At S A2 4,000
OHstSE Atz S A2 4,000
OstatSeAteI S A2t 4,000
OHUNSE AR S A2 4,000
OZLIZSE AR SA2 4,000
ARISXZ D522 98,000 49,500 48,500
=S 29,400
Al 68,600
402 2I2F X201 & 98,000 49,500 48,500
< 29,400
Al 68,600
02 QI T2 AL EE (01X THE) 98,000 49,500 48,500
OMeI=XZ JIsE2 98,000
S 29,400
Al 68,600
C=0AE 2E(HEAIY) 1,168,781 1,092,220 76,561
= 888,779
Al 280,002
307 @I2t01 & 1,168,781 1,092,220 76,561
s 888,779
Al 280,002
10 Al2ISTIAEEE2HIEX 1,168,781 1,092,220 76,561
OL=0A4 29 1,168,781
[ 888,779
Al 280,002
C=0IAE A2l (At F) 27,000 27,000
307 elztol & 27,000 27,000
05 2I2tRIE S 27,000 27,000
OL=0AI4 A2l (At &) 27,000
=4 EsHI(&H) 1,002,247 733,493 268,754
=S 300,674
Al 701,573
307 21201 & 1,002,247 733,493 268,754
< 300,674
Al 701,573
11 AMEISXAEEES 1,002,247 733,493 268,754
=1 EsHI(2H) 1,002,247
= 300,674
Al 701,573




FA dES
M HASE MBOIE PE
SRl Al EST XA (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
C=0IAld dAIESHl X 13,600 13,600 0
301 LEtE N = 13,600 13,600 0
02 ARSI 2EH 2GS (HAAHS, W) 13,600 0 13,600
OL=0l LABS HEHl X 2,040
OL=Ql LAIES MAHHl X2 11,560
C=0AE JIsE2 1,120,000 1,934,300 814,300
= 560,000
= 392,000
Al 168,000
401 AIZHIX S0HH 1,120,000 1,914,500 794,500
= 560,000
= 392,000
Al 168,000
01 Al&H| 1,120,000 1,914,500 AT94,500
OL=0A4 JIs2Z 1,120,000
= 560,000
< 392,000
Al 168,000
AEISX AL E=1=H| A& 30,352 30,352
307 elztol & 30,352 30,352
11 AMEISXAIEEXS 30,352 30,352
OARIS A B0 SH| X3 30,352
AMEISXIAL X2t K& 30,600 27,600 3,000
307 @120l & 30,600 27,600 3,000
11 AMISXAIEEX 30,600 27,600 3,000
OAI=XIAF SXPtE X1 30,600
A2 SXIAH Sotel sl X 11,000 11,000 0
307 elztol & 11,000 11,000
11 AMEISXIAEEES 1,000 11,000
OALIZ XA SO0tel 23l XI& 11,000
ARISRIAL Setdst WS 20,000 20,000 0
201 Ler=23| 20,000 20,000
01 At22te|Hl 20,000 20,000
OA2ISAIA SHEZ et WF 20,000
MEISXIAIE SAAH LAY 64,000 124,000 60,000
201 =3 24,000 24,000 0
01 AFS2t2ltl 24,000 24,000 0
OARISXIAIE SALAF S22 otAr 24,000
307 elztol & 40,000 40,000
02 IHB A HE L 40,000 40,000
OARISKIAIE SAG HEZStA 40,000
MHRAE =UABEER N 132,000 96,000 36,000




FA dES
M HASE MBOIE PE
SRl Al EST XA (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 132,000 96,000 36,000
03 ALl 2 EH 26l (XL E) 132,000 0 132,000
OxRAAE =UHBEE= NH 132,000
e X+ A EH0H 1,000 1,000 0
301 EtE2 NS 1,000 1,000
14 0Bt 2a=S 1,000 1,000
O"A Xt Aol 1,000
ANZELHE K& (HEAY) 4,757,659 3,810,916 946,743
301 22N = 4,757,659 3,810,916 946,743
10 ARSRES 4,757,659 3,810,916 946,743
OARI=R2RE 2+ 4,348,800
OAt2|=SR2E WSH| - II=H] 408,859
ANBIZRE 2| 654,530 530,850 63,680
301 EtE N = 654,530 530,850 63,680
10 MSRREENS 654,530 590,850 63,680
OAI=S223 SAHI 646,884
OAte|=SR223 24MYEEH 7,646
HE=X R 19,000 19,000 0
203 gF=4| 19,000 19,000
03 A=A 2= 19,000 19,000
o=Xad e 9,000
CdE=INA 843t =8 5,000
OMEEIIMHIA ARFZ 5,000
SXNAE S FALANE JIs2 100,000 100,000 0
402 2I2F X201 & 100,000 100,000
01 I SASE X (XHMITHR) 100,000 100,000
O=XAE S HAANE JIs2ES 100,000
NSAtRI Al Atz =R 100,000 100,000 0
307 elztol & 100,000 100,000
11 AMEISXAEEE 100,000 100,000
OXIS A2 A S&f2dst HHAA 100,000
SXAE 243t 30,000 30,000
201 er23| 30,000 30,000
01 AtR2t2|HI 30,000 30,000
OSXAY 243t 30,000
OIM2 =Hl XI& 25,000 25,000 0
== 25,000
201 er=23| 5,000 5,000 0
= 5,000
01 AtR2t2lt] 5,000 5,000 0
OO0IMHel =H| 5,000
& 5,000




A MESX
M LSS MBOT 9F
Chelr AlQIME=X] XA (SH &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
301 LetENEZ 16,000 16,000 0
& 16,000
03 AFSI 2 & A6l 2 (XIZTHEA) 16,000 0 16,000
OO0l 2ZH| 16,000
= 16,000
307 gI2tol ™ 4,000 4,000 0
= 4,000
02 QIR LA B X 4,000 4,000 0
OO0l #=H| 4,000
& 4,000
ool MSEXID| 2 110,000 98,840 11,160
307 QI2HOI A 110,000 98,840 11,160
06 2832 110,000 98,840 11,160
OFOR MSEXID| B 110,000
el dMsEEF ORZEXH 5,000 5,000
201 L2 | 5,000 5,000
02 33244l 5,000 5,000
OXTHR! MSEEHF OFZHEKXIE 5,000
JIRASHSAE 115,200 129,000 A 13,800
= 11,300
Al 103,900
307 2I2+0l ™ 115,200 101,000 14,200
= 11,300
Al 103,900
" AMSI=SXAIEEE 115,200 101,000 14,200
OJ|RASHBA 115,200
& 11,300
Al 103,900
OSAH Ol & 22| MARS 260,000 0 260,000
= 130,000
& 78,000
Al 52,000
201 L2 | 20,000 0 20,000
= 10,000
= 6,000
Al 4,000
01 ArR22elt| 20,000 0 20,000
OLNSAH Ol & el AIBAHY 20,000
= 10,000
= 6,000
Al 4,000
307 QI2H0| A 240,000 0 240,000




2A:
PSER
o e

el

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

Mo

=

120,000
72,000
48,000

11 ARRIS XA E X

OLSAL Gleh X 22l AIBAISE

Mho

=

240,000
240,000
120,000
72,000
48,000

240,000

PSEN

SE MHIA X

oA

=

132,198,852
110,793,668
4,035,206
10,089,514
7,280,464

116,962,771

15,236,081

Mo

=

117,519,579
105,767,622
8,226,370
3,525,587

103,712,726

13,806,853

Mo

=

117,519,579
105,767,622
8,226,370
3,525,587

103,712,726

13,806,853

Mo

117,519,579
117,519,579
105,767,622
8,226,370
3,525,587

103,712,726

13,806,853

119,246

90,570

28,676

3
e
&
o
0=
|
x| A
on | oo
ol A
K
0
iy
=

119,246

90,570

28,676

r__‘E:'
2

119,246
119,246

90,570

28,676

Mo

=

498,327
448,494
34,883
14,950

460,307

38,020

mho

=

498,327
448,494
34,883
14,950

460,307

38,020

hoH

498,327
498,327
448,494
34,883
14,950

460,307

38,020




A MHESX0
M YASS MY Y
=Rl NASSE APl X (SH9 H2)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
S8 = MESEAMY 108,000 144,000 A36,000
& 54,000
Al 54,000
301 LetEEZ 108,000 144,000 236,000
& 54,000
Al 54,000
03 MBI 2 & A6 2 (R THA) 108,000 0 108,000
OF=E I MEEBTAIY 108,000
& 54,000
Al 54,000
22=X K& 4,925,724 3,926,447 99,277
= 3,940,570
= 492,577
Al 492,577
301 LEHBNEF 4,925,724 3,926,447 99,277
= 3,940,570
& 492,577
Al 4,577
01 A BEAH 2 (R RNEETR) 4,925,724 3,926,447 99,277
o2=2=X XA 4,925,724
= 3,940,570
& 492,577
Al 492,577
KETEE ASIMHIA SXANY 5,395,465 4,972,467 422,998
s 3,776,826
& 809,319
Al 809,320
201 L2 | 1,954 1,954 0
s 1,368
= 293
Al 293
01 ArR22elt| 1,954 1,954 0
OXAXEYE MIIAMBIA EXTAIS 1,954
= 1,368
= 293
Al 293
202 Ot 1,050 1,050 0
s 735
= 157
Al 158
01 =WOdHI 1,050 1,050 0
OXISRES ALSIAEIA EXTAIY 1,050
s 735




SM: ME=XD
B HASE MBOIE P
el MASS MBIA X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 157
Al 158
403 MR HHMSAH=01H 5,392,461 4,969,463 422,998
= 3,774,723
< 808,869
Al 808,869
02 SIS0t =S A A 5,392,461 4,969,463 422,998
OXISXEE AtSlAHIA SXALY 5,392,461
= 3,774,723
== 808,869
Al 808,869
d=d SUI=A = 105,000 105,000 0
307 glztol & 105,000 105,000
11 AMEISXAEEXS 105,000 105,000
od=ESUITSI| A 105,000
Y == 010| 8l= &0tel g 741,000 678,900 62,100
301 EtE NS 741,000 678,900 62,100
14 JIEt2 a3 741,000 678,900 62,100
CAIE 2 2 BiE 741,000
NASE dgord X3 40,000 40,000 0
301 22N = 40,000 40,000 0
03 A 2E A4S (XL THH) 40,000 0 40,000
OMASIHE X 30,000
OAt2=XIAIE XIE 10,000
FC-SHE 2SS 199,200 188,400 10,800
= 39,840
Al 169,360
307 gl2to| & 199,200 188,400 10,800
=S 39,840
Al 159,360
11 ARRIS XA E X 199,200 188,400 10,800
O=F2U=SHE 2 199,200
[ 30,840
Al 159,360
Al XSAI2EE 2N 29 236,000 226,000 10,000
301 LEtE NS 126,000 126,000 0
14 IIEt2 83 126,000 126,000 0
Os NGA2HE AN =29 126,000
307 gl2to| & 110,000 100,000 10,000
10 AlISAAZEE 22X 110,000 100,000 10,000
OHFAl NGMEHEAM 24 110,000
NEAS EHE M = K& 1,000 1,000 0




SH: ME=T D
B HASE MBOIE P
el MASS MBIA X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 300
Al 700
307 lztol & 1,000 0 1,000
= 300
Al 700
02 2IZHBYAIHE X 1,000 0 1,000
OXNSA 2HE M s N 1,000
= 300
Al 700
Al =Rl & AL X2 11,000 11,000 0
307 @I2t01 & 11,000 11,000
11 AMRISXAEEES 11,000 11,000
OAMI=XIS & A X 11,000
AZ7 SEAtdl2tel K& 24,000 24,000 0
= 12,000
Al 12,000
201 er2 3| 12,000 9,600 2,400
= 6,000
Al 6,000
01 AtR2t2|HI 12,000 9,600 2,400
OAlZ+ S A2l K& 12,000
[ 6,000
Al 6,000
301 2eEN= 12,000 12,000 0
= 6,000
Al 6,000
01 A2 HSHS(RRNEERTH) 12,000 12,000 0
OAlZ2+ SEAtdl2el XI& 12,000
= 6,000
Al 6,000
SYAFLBIOIN 29 9,600 4,800 4,800
[ 4,800
Al 4,800
101 ©1AH| 9,600 4,800 4,800
[ 4,800
Al 4,800
03 SR (RINHA) 222+ 9,600 4,800 4,800
O E+MHBI0IM 298 =% 9,600
s 4,800
Al 4,800
SHS XEE SEAMHIA XEH 345,170 294,000 51,170
= 241,580
Al 103,590




SH: ME=T D
B HASE MBOIE P
el MASS MBIA X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 138,068 117,600 20,468
= 96,609
Al 41,459
01 At2teltl 120,960 100,492 20,468
OsHsE AEE SSAHIA XA 120,960
= 84,633
Al 36,327
02 s3=gHl 17,108 17,108 0
OSHs XEE SEAMHIA NH 17,108
[ 11,976
Al 5,132
301 EtE NS 207,102 176,400 30,702
= 144,971
Al 62,131
01 Al EE A S (2 DEXR) 207,102 176,400 30,702
OsHsE AEE SSAHIA X2 207,102
[ 144,971
Al 62,131
A=A AN A 29 589,000 574,000 15,000
306 EH= 589,000 574,000 15,000
01 &= 589,000 574,000 15,000
OHFAl SXME dFAE 2E 589,000
HE2d AIE)|ISEZA (S Z00)At) 50,000 50,000 0
= 50,000
402 2I2FX=201H 50,000 50,000 0
[ 50,000
02 QI X2 AL E R (01X THE) 50,000 50,000 0
OcE2d AEI)ISEZAY 50,000
= 50,000
DELH9 HEXIAH] A 1,274,044 1,454,042 A179,998
= 636,982
< 382,225
Al 254,837
301 LEIE NS 1,274,044 1,454,042 A179,998
= 636,982
== 382,225
Al 254,837
01 Al 2E AL S(SREXME) 1,274,044 1,454,042 A179,998
OZ2LH9 MEXI2H| At 1,274,044
= 636,982
= 382,225
Al 254,837




2A:
X XH -
o e

=aak

{I
x
0
B
m
0
&
I
=
{I
>
©
e
0x
Jo

Ofl &F2H

MEE
Ofl &k2h

7,497

5112

7,497

5112

Od=Zes e-1elREANHIA &

7,497
7,497

5112

oA

=

15,958,837
14,035,960
42,990
399,174
1,480,713

12,689,340

3,269,497

Mo

=

9,666, 146
8,699,531
386,646
579,969

9,381,188

284,958

hoH

=

10,000
9,000
400
600

10,000

01 AFR2t2ltl

onazzgdst NJ

o

=

10,000
10,000
9,000
400
600

10,000

hoH

=

905,000
814,500
36,200
54,300

905,000

mhoH

=

mhoH

=

900,000
900,000
810,000
36,000
54,000
5,000
5,000
4,500
200

300

900,000

5,000

307 212t01d

mhoH

8,751,146
7,876,031
350,046
525,069

8,466,188

284,958

05 DIRISIEr2

onazzedst X

H

8,751,146
8,751,146
7,876,031

8,466,188

284,958




SH: ME=T D
M YASS MY Y
chel: KR (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 360,046
Al 525,069
ANE=IDIs st 2,700 2,300 400
201 er2 3| 2,700 2,300 400
01 AtR2te|Hl 2,700 2,300 400
OXE=ADI= At 2208 RA2+x 2,700
NS X2 HE SAHL S84+ 41,760 39,600 2,160
== 12,528
Al 29,232
307 212+01& 41,760 39,600 2,160
[ 12,528
Al 29,232
11 AMEISXIAEEES 41,760 39,600 2,160
OXNSA2HE SAHL S8+ 41,760
= 12,528
Al 29,232
NS A2HE 28X 950,266 907,222 43,044
= 651,075
Al 299,191
307 @I2t01 & 950,266 907,222 43,044
= 651,075
Al 299,191
05 2ItRIE = 950,266 07,222 43,044
OXIS Xt 2SS 950,266
= 651,075
Al 299,191
NS X2 HE Atell2te| A 1 21] 61,414 58,526 2,888
= 42,990
Al 18,424
307 gl2to| & 61,414 58,526 2,888
[ 42,990
Al 18,424
05 git?(& = 61,414 58,526 2,888
OXEZZFHUA Atellael 2SR 61,414
[ 42,990
Al 18,424
ARISXIAL S X2 K& 6,600 7,200 2600
307 elztol & 6,600 7,200 2600
11 AMEISXAIEEE 6,600 7,200 A600
O=2=A=20F 23l X2 6,600
22 sEAE Sk €S2 (APIISSE) 62,307 182,766 A120,459
= 56,076




A MESX
M JASE MEIOIY 99X
o X2 XA

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 6,231
307 gl2tol & 62,307 182,766 A120,459
= 56,076
Al 6,231
05 git?(& = 62,307 182,766 120,459
o3Iz 62,307
= 56,076
Al 6,231
22 sEAE SN2 €8N (ULIISSE) 58,849 91,664 A32,815
= 52,964
Al 5,885
307 el2tol & 58,849 91,664 N32,815
= 52,964
Al 5,885
05 212+ =S 58,849 91,664 A32,815
ougsl=s%d 58,849
= 52,964
Al 5,885
22 s"U=E =S €SN (HEIPIISSE) 165,839 136,414 19,425
= 140,255
Al 15,584
307 elztol & 185,839 136,414 19,425
= 140,255
Al 15,584
05 212t =S 155,839 136,414 19,425
OFHIYII=SH 165,839
= 140,255
Al 15,584
22 s"U=s =242 eSS (FEHM=HE) 342,630 939,089 15,459
= 308,367
Al 34,263
307 glztol & 342,630 939,089 A\596,459
= 308,367
Al 34,263
05 212t =S 342,630 939,089 A\596,459
OBE M=%t 342,630
= 308,367
Al 34,263
FUAS & AEssst 28 A 25,000 25,000 0
201 fet=3| 25,000 25,000
01 AtR2te|Hl 10,000 10,000
O&J|, A, 50| etd2e| EH 10,000




ME=T) Dt
HASES Moy 2%
NEAE

5,120,655

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

02 S5=g4l 15,000 15,000 0
OSZAIE2EHl | S 15,000

2 sEYE 22 S-SR (BLHSAHE 1) 296,715 149,478 147,237
267,043
29,672

307 @120l & 296,715 149,478 147,237
267,043
29,672

05 2IR”IRIE = 296,715 149,478 147,237
O3 M=HZ | 296,715
267,043
29,672

2 suAE ==t €S (FEHLM=H 644,138 121,854 522,284

alvkely

580,624
63,514

307 @120l & 644,138 121,8%4 522,284
580,624
63,514

05 git?(&= 644,138 121,854 522,284
O UL M= H Z X2 0l'ot 644,138
580,624
63,514

2 s3AE =St €S (FEHLM=H 3,644,473 647,039 2,997,434

SR ENIY)

3,280,025
364,448

307 gl2to| & 3,644,473 647,039 2,997,434
3,280,025
364,448

05 eit?(& = 3,644,473 647,039 2,997,434
OFHUNL M= XA 3,644,473
3,280,025
364,448

NSAtel selsd 2,900,000 36,215 2,864,785

LOI=EXAE K& 2,900,000 36,215 2,864,785

dEsatd 2 Sotd Ut 2,900,000 35,215 2,864,785

401 AIE2BIXL S THYI 2,900,000 35,215 2,864,785

01 A28l 2,900,000 36,215 2,864,785
Odz=sstd H SY SUstAY 2,900,000

=ItE&E 2L 6,613,055 6,326,918 286,137
= 1,492,400
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FA dES
Hu: s
chel: 22l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Od=Al 22352 2SR 15,000
2 s5=34l 15,000 15,000 0
OX=Al 22352 2SR 15,000
401 Al HIZ S 0HYI 10,000 5,000 5,000
01 AlZ28| 10,000 5,000 5,000
OTFAl 2222 NERAES 10,000
2erclsd 289 150,000 0 150,000
< 45,000
Al 105,000
101 @124H| 44,552 0 44,552
= 13,366
Al 31,186
MU IIRIMZZENSES 44,552 0 44,552
oFs+csd =24 44,552
= 13,366
Al 31,186
201 et 3| 52,448 0 52,448
< 15,734
Al 36,714
01 At22t2ltl 30,000 0 30,000
22xcl8E 29 30,000
= 9,000
Al 21,000
02 S3=gl 22,448 0 22,448
OoFs+clsd =24 22,448
= 6,734
Al 15,714
207 AR 40,000 0 40,000
[ 12,000
Al 28,000
02 MAHHZHI 40,000 0 40,000
OEs+c3d S0l 2= 40,000
= 12,000
Al 28,000
405 KHoHF S| 13,000 0 13,000
= 3,900
Al 9,100
01 TR ESFSHI 13,000 0 13,000
O&LEH S 13,000
== 3,900
Al 9,100
AH2I3H(HE=X1) 1,308,920 885,900 423,020




A MESKID
. HY2IAH|(ME=X
CHR: ClHR29Y|(ME=XID) (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
iy 490,114
T 56,128
Al 762,678
OlH2YH|(ME=XIL) 1,233,802 813,362 420,440
= 490,114
& 56,128
Al 687,560
QlH2HEY| (ME=SXL) 494,125 480,134 13,991
101 124d| 494,125 480,134 13,991
01 2= 494,125 480,134 13,991
OAIZte 2R+ 478,544
oxzLZRY 15,581
@Kt MEHErS 2 15,581
SEA2 2l AL o1 2AH| 338,760 333,228 5,632
= 169,380
Al 169,380
101 2124 d| 310,446 301,088 9,358
= 155,223
Al 155,223
03 SRA(RINHS) 222+ 310,446 301,088 9,358
OSeAtell2tel At 21| 310,446
= 155,223
Al 155,223
4 HAZRE3S 28,314 32,140 A3,826
= 14,157
Al 14,157
M SRHE(PINHS) 22X B8288=2 S 28,314 5,480 22,834
O3 (RIHY) 2=k BE828€=2 S 21,478
= 10,739
Al 10,739
O3RN (RIHN) 22X BEEg8d= S 6,836
= 3,418
Al 3,418
OlZ 3 &AL CIAH| 400,917 0 400,917
= 320,734
T 56,128
Al 24,055
101 21241l 400,917 0 400,917
iy 320,734
T 56,128
Al 24,055
03 SRA(RINHS) 22X 2+ 400,917 0 400,917
O2z=0¢2telAt 21| 400,917




HE= X1
HH2IJH(ME=X1)
QA HH(HESX ) (S &)
SN - BE - SRS - MRA - ol &4 e HIDEY
s 320,734
S 56,128
24,095
=ZH(M2=X1) 75,118 72,538 2,580
JI23HI(ME=X11H 75,118 72,538 2,580
201 Zet2 & 47,266 43,538 3,728
01 AtR2telb] 39,266 35,538 3,728
O Et=ZH| 19,000
o=g=+¢g 3,000
o=l 16,416
OSXIUHEA 2OIZA E2 850
02 3224l 8,000 8,000 0
0382= € HA 8,000
202 04| 20,952 22,100 A1,148
01 AL 20,952 22,100 1,148
OJl=zgR=a0d 20,952
203 2=l 6,900 6,900
01 J|2=2ggRs=d 3,300 3,300
osXa3=% 3,300
4 28R 3,600 3,600 0
ORM2IER=A 300,000 122 3,600
HeEs(Me=X1) 11,075,506 10,563,746 511,760
HAHXE(HE=RD) 11,075,506 10,563,746 511,760
UWEAHHXIE(2AZE2S0D 11,075,506 10,563,746 511,760
701 JIEFRIAISEES 11,075,506 10,563,746 511,760
01 JIEteI AR ES 11,075,506 10,563,746 511,760
OzsHIISEE 11,075,506




